Lesson - 3

1. Which of the following does not come under service sector im
a) Banks in Urban areas b) Education in Rural Areas
c) Transportation and Insurance d) Production of Steel
2. Interms of GDP in 2009-10 the share of Agricultural and Industrial Sector jointly is...
a) below 60% b) above 60% c) above 50% d) below 50% im
3.  Find the incorrect statement and write in your answer script. 1M
Workers in the agricultural sector produce goods
Most of the workers in the organised sector enjoy job security.
Employment in service sector has increased to the same extent as production.
4. Which of the following is an economic activity. 1im
Uma cooks food for her family
Ratna cultivates vegetables for her family needs.
Latha cultivates vegetables and sells in Rythu bazar to feed her family.
Navya is a good homemaker.

5. Idli:Finalgood: : Paddy : ? 1M
6. The duration of 2019-20 Financial year is 1M
a) 2019 January 1 to 2020 December 31  b) 2019 February 1 to 2020 March 31
c) 2019 March 1 to 2020 April 30 d) 2019 April 1 to 2020 March 31
7. Which sector in Indian economy is providing employment for maximum number of
population? 2M
8. What is GDP? How it is calculated? 2M
9. Give an example for unorganised sector. ZM
10. Pick the odd one out. 2M
car, tyre, notebook, pen
11. Observe the picture and write the sector to which he belongs 2M
12. What is Organised sector. Give examples. 2M
13. Observe the table and fill up the blank 4mM
Financial Year GDP in Crores Growth rate of GDP
2009-10 45,16,100
2010-11 49,37,000 9.32%
2011-12 52,44,000 ?
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14. Name the facilities enjoyed by the organised sector. 4™M
15. Now a days which economic sectors are the job opportunities are increasing? Give two
reasons to support your argument. 4M
16. People donot like to work in unorganised sector. Why? 4M
17. Read the table and write your observation.
WORKERS EMPLOYED IN DIFFERENT SECTORS IN INDIA.

Year Agriculture Industry Services
1972-73 74% 11% 15%
2009-10 53% 22% 25%

18. Observe the graph and answer the questions: 8M
Aggregaiedd5,16,071)
A500000 +
i | 1. Which was the largest producing sector in
1972-73?
3500000 -+
§ 2o00-1 2. Which was the largest producing sector in
< 2500000 | 36 2009-10?
o |—_ets
1soo000 + A BIIST 173,089 3. How many times increased, the GDP in
1000000 11,912 India between 1972-73 and 2009-10?

2,43,082
l 4. Which sector recorded more growth rate?
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19. Suggest some measures to create more and better conditions of employment. 8&m
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